ADJUSTABLE HEEL PINS

E—ILILE

SUM22
=)

BEAHRC40~45

L Lnws B ES

Z—5'—No. No. AQEE) B C D E G H BEg
38623 | HBT04040 | M 4x0.7 = 26 40 5 4 7 4 5
38624 | HBT05050 | M 5x0.8 . 36 50 0 5 4 8 5 10
38625 | HBT06050 | M 6x1.0 = 35 50 0 5 5 10 6 15
38626 | HBT08050 | M 8x1.25 = 34 50 ¢ 5 6 13 28
38627 | HBT10052 | M10x15 - 335 52 = 5 7 17 42
38628 | HBT10062 | M10X15 435 62 . 5 7 17 50
38629 | HBT12065 | M12x1.75 @ 435 65 = 5 10 19 78
38630 | HBT12090 | M12x1.75 = 735 90 = 5 10 19 99
38631 | HBT16092 | M16X2 685 92 5 12 24 170
38632 | HBT16117 | M16X2 935 @ 117 | 5 12 24 205
38633 | HBT20095 | M20x25 685 95 = 5 15 30 285
38634 | HBT20120 | M20x25 = 935 120 @ 5 15 30 335
fEEEABI

N H B
i A
17
R—ALR—IT CAD F—9IDI I VO—REEEBEHNT




	F214J_0479

